f5]) When the jump element performed by the player of Novice A was less than

|Case 1
1{2Lz+2T 1|12Lz+2T
2|2Lz+2Lo+1Lo 2|2Lz+2Lo+1Lo
3|28 3|2S
4128 4]28
5(2T 5|2T* There is no “Lo”
6|2F+2A+SEQ 6|21 +20%+SEQ+REP The third "COMBO” / “SEQ”
%It will be done also at 2A kicked out
Case 2
1128 1{2S
2127 22T
3|2Lo 3|2Lo
4(2Lo 4|2Lo%* There is no "A”
5|2F 5|2F
6|2Lz 6|2Lz
7(2A T|2A% Seventh element
%The outside elements “2A” are not done
Case 3
Case 3
13T 13T
2|38 I‘} 2|3S
3|2A 3|2A
4|3T+2T 4|3T*+2T There is no "Lo”
5(2Lz+2T+2Lo 5|2Lz+2T+2Lo
6|2F 6|2F
Case 4
113T 1(3T
2138 l'} 2|3S
3|2Lo 3|2Lo
4(3T+2T 4|3T*+2T* There is no "A”
5(2Lz+2T+2Lo 5(2Lz+2T+2Lo “Lz” is mandatory
6|2F 6[2F “F” is mandatory
¥The kicked out in the absence of the “"A” is the whole
Case 5
113T 1(3T
2138 l’> 2|3S
3|2F 3[2F “F” is mandatory
4|3T+2T 4|3T*+2T @ There is no “Lo”
5(2Lz+2T+2Lo 5(2Lz+2T+2Lo “Lz” is mandatory
6[2F 6|2 @ There is no “A”, Second ” F”
% If there are no more essential elements, A is processed first
Case 6
113T 1(3T
2138 I.> 2|3S
3|2F 3[2F “F” is mandatory
4|2F 4| 2F%* @ There is no “Lo”. Second ” F”
5(2Lz+2T+2Lo 5(2Lz+2T+2Lo “Lz” is mandatory
6(3T+2T 6|3T*+2T* @ There is no "A”
X If there are no more essential elements, A is processed first
3% The kicked out in the absence of the “A” is the whole
Case 7
1|2Lz+2T 1|2Lz+2T
2|2Lz » 2|2Lz
3|28 3|28
4|28 4]|25% There is no “F”
5(2Lo 5(2Lo “"Lo” is mandatory
6|2A+1Eu+2F 6[2A+1Eu+2F ”A” is mandatory




